
 
 

INTER-PLAY Ul. Przybyszewskiego 19/2, 71-315 Szczecin - POLAND 
tel. +48 91 4 22 33 99, fax +48 91 4 230 231 www.inter-play.eu 

Installation guide K302 “BIRDO” 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Part Part’s number Quantity 

1 The frame of swing BIRDO 1 v2 1 

2 Seat 1 

3 The seat of swing BIRDO 1 

4 The frame of swing BIRDO 2 v2 1 

 

 

 

 



 
 

INTER-PLAY Ul. Przybyszewskiego 19/2, 71-315 Szczecin - POLAND 
tel. +48 91 4 22 33 99, fax +48 91 4 230 231 www.inter-play.eu 

Marking of foundation depth: 
 

 

 

Marking of the safety zone: 

 

 

level 0 

 



 
 

INTER-PLAY Ul. Przybyszewskiego 19/2, 71-315 Szczecin - POLAND 
tel. +48 91 4 22 33 99, fax +48 91 4 230 231 www.inter-play.eu 

The angle of swing declination: 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Location of installation hole (foundation blocks): 

 

level 0 

 



 
 

INTER-PLAY Ul. Przybyszewskiego 19/2, 71-315 Szczecin - POLAND 
tel. +48 91 4 22 33 99, fax +48 91 4 230 231 www.inter-play.eu 

Comment: 

 

The height of block foundations – 60 cm ( for the elements which are anchoring 100 cm into 

the ground). 

 

A (1 : 5) 

 

 

 

 

 

 

 

 

 

 

 

 

 

Installation for thimble:  

 

 

 

 

 

 

 

 

 

 

 

thimble has to turn freely 

self-locking nut M8 

washer 8x24 

washer 8x16 

allen screw M8x65 



 
 

INTER-PLAY Ul. Przybyszewskiego 19/2, 71-315 Szczecin - POLAND 
tel. +48 91 4 22 33 99, fax +48 91 4 230 231 www.inter-play.eu 

Installation for frames: 

 

 

 

 

 

 

 

 

 

 

 

 

B (1 : 5) 

 

Head screw lenticular M8x20 

washer 8x16 

cap nut M8 

plug for small cork 

self-locking nut M8 

 
washer 8x16 

 

small cork washer 8x16 

 

allen screw M8x80 

 

plug for small cork 


